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L—bhLEEIFT—22ELC0Ed, REOHEMIZ TH), 1 HO ) bR % 8 Kk
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Y1 cos(2mti11) cos(2mt1vyye)  sin(2mtivy) sin(27t1vpn/2)

Y2 cos(2mtary) cos(2mtavyyg)  sin(2mtavy) sin(27tavyy2)

: : : : a1
i c al1) =~ cosQwtary )  siu2Rtar) 7 sinQ2atary s @2
w cos(2ntgly) -~ cos Nj2)  Sin(2wtpn) o~ sin N2

e cos 1) -~ COos VN/2 sin V1) .~ sin N2 any2
Yd cos(2mtqry) cos(2mtqvny2)  sin(2mtqvy) sin(27tqvn2) by

Ye cos(2mt.vy) cos(2mtevyye)  sin(2mtovr) sin(27tevyy2) ba
yr cos V1) < cos NJ2 sin V1) -7 sin N/2 :

§74 cos V1) =~ cos VN2 sin V1) =~ sin GVN/2 bN/2
YN cos(2mtN1y) cos(2mtnvy/2)  sin(2mtyvr) sin(27wt nvy2)

(5)

DF D, W7 =Y ZEEICHY T 2 5EASRIE T CH B DIz, —HDITHRIFTWLBIR
WTT, 2 I CEEZ, BHllENTuRuRO T =212 0 2 AT (0-padding) . EHPH
F— Y BREEI TN —ART P VEHEELET, DX D,

Y cos(2mtivy) cos(2mt1vyye)  sin(2mtivy) sin(27t1vn/2)
Y2 cos(2mtary) cos(2mtavyyz)  sin(2mtavy) sin(27tavp o)
' z z z z a
cos(2mtq1r) cos(2mtaVny2)  sin(2mtquy) sin(27t, v /2) a2
cos(2mtpry) cos(2mtyvn ) sin(2mtyry) sin(27tyv /2)
cos(27t.vy) cos(2mtcvnyo)  sin(2mtory) sin(27t v /o) any2
Yd cos(2mtqry) cos(2mtqvny2)  sin(2mtquy) sin(27tqvn2) by
Ye cos(2mt.uy) cos(2mtevyye)  sin(2mtovr) sin(27tevyy2) ba
0 cos(2mt ) cos(2mtyvn/o)  sin(2mtypry) sin(27t prn2) :
cos(2mtg11) cos(2mtyvnye)  sin(2mtgry) sin(27tgvn2) b2
YN cos(2mt n1y) cos(2mtnvyye)  sin(2mtyvr) sin(27mtnvy2)
(6)
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B, BRI CETIRAS=—ALEEZONE T, oF D, FEKERDIZEA EDKST
NOT, BROHAEF1ZHLTHL2H) A, BT —2 OEAERERDAED X 9 22 W
BOAERE ET B E, ORI INFETERM. 1R/ VaiMbz 29> T,
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[1] Kato, T., Uemura, M.: Period Analysis using the Least Absolute Shrinkage and Selec-
tion O perator (Lasso), Publ. Astrn. Soc. Japan, 64, 122 (2012)

DUT AT TR L 7GR & FIIRIT DY S 2L —v a VIV ROAZ Y 7 TF, i
JENTR 7T (perlasso) 1E3CHK [1] @ Appendix I2H % b D EF LT,

library(lars)
library(glmnet)
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### Functions from Kato & Uemura (2012)
seqfreq <- function(a,b,...) {
return(1/seq(1/b,1/a,...))

}

makematlasso <- function(d,p,ndiv=2) {
nd <- length(p)
m <- matrix(0,nrow(d) ,nd*ndiv)
for (14 in 1:nd) {
ph <= (((a$v1)/pl[il) %% 1)*pix*2
for (j in 0:(ndiv-1)) {
m[,i+nd*j] <- sin(ph+pi*j/ndiv)

}

return(m)

perlasso <- function(d,p,ndiv=2,alpha=1,cv=FALSE) {
nd <- length(p)
mat <- makematlasso(d,p,ndiv)
y <= d$V2 - mean(d$V2)
m <- glmnet(mat,y,alpha=alpha)
ndim <- m$dim[2]
pow <- matrix(0,nd,ndim)
for (i in 1:ndim) {
v <- m$betal,i]
for (j in 0:(ndiv-1)) {
pow[,i] <- pow[,i] + v[(nd*j+1):(nd*(j+1))]"2

}
nmin <- NULL
gcv <- NULL
if (ev) {
gcv <- cv.glmnet(mat,d$V2,alpha=alpha)
minl <- gcv$lambda.min
nmin <- which.min(abs(m$lambda-gcv$lambda.min))
}
r <- list(pow=pow,p=p,lambda=m$lambda,nmin=nmin,m=m,gcv=gcv,mat=mat)
class(r) <- c("lassopow",class(r))

return(r)

### Demo
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nf <- 500
fnyq <- 50

# Assuming a spectrum
n <- 2*nf

x <- rep(0,n)

x[9] <- 1.0

x[29] <- 1.0

# Simulating data
df <- fnyq/nf

f <- seq(df,fnyq,df)
p <- 1/f

dt <- 1/(2*fnyq)

t <- seq(dt,dt*n,dt)

m <- matrix(0,n,n)
for (i in 1:nf) {
ph <= ((ex£[i]) %% 1)*pix2
for (j in 0:1) {
m[,i+2%j] <- sin(ph+pixj/2)

y <- m %*% x

# Window and data

idl <- which(t<0.3 | (£>1.0&t<1.3) | (t>2.0&t<2.3) | (£>7.0&t<7.3) | (t>8.0&t<8.3) | (t>9.0&t<9
wl <- rep(0,n)

wilid1] <- 1.0

yl <- wilxy

# Solution of a simple linear regression
dft <- 1lm(y1™m)

pyl<- (dft$coefficients[1:nf]) "2

pyl <- data.frame(V1i=f,V2=pyl)

# LASSO analysis
dl <- data.frame(Vi=t[id1],V2=y1[id1])

11 <- perlasso(dl,p)

### Figures and plots
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# postscript("perlasso_demo.eps",horizontal=FALSE,height=8,width=6,paper="special")
par(mar=c(3.2, 3.2, 1.5, 0.5), mgp=c(2.0, 0.7, 0), mfrow=c(4,1))

plot(f,x[1:nf],x1im=c(0,6) ,type="1",xlab="Frequency",ylab="Power")

plot(dl,xlab="Time", ylab="Flux",ylim=c(-2.0,+2.0),pch=16,cex=0.8)

lines(t,y)

plot(pyl,x1lim=c(0,6) ,type="1",xlab="Frequency",ylab="Power")
plot(f,11$pow[,length(11$lambda)] ,x1im=c(0,6) ,type="1",col="red",xlab="Frequency",ylab="Power")

# dev.off()



